
ST. THOMAS SCHOOL 

Maths    Worksheet (2018-19) 

CLASS – 4 

             Q 1. Fill in the blanks; 

i) Perimeter of square = 4 X __________  . 

ii) 3L= 200 ml + ____________ 

iii) 34 more than 2345 ______________. 

iv) 3456 + ________ = 4532 + ___________ . 

v) The result which we get after subtraction is called _______________ . 

vi) 1 added to a number gives the __________ of a number as the sum . 

vii)   Half of 900 =_________________. 

viii) Lower quantity of liquids are measured in _____________ . 

 

   Q 2 . Find the perimeter of a triangle with sides 14 cm, 14 cm and 12 cm. 

   Q 3 . Find the area of a rectangle whose length is 13 cm and breadth is 10 cm. 

   Q 4 . Find the perimeter of the following figure : 

 

 

 

 

 

 

 

Q 5. Convert 

      i)  25 L 345 ml in L and ml  

     ii)  4325 ml in L  

     iii) 47 L 56 ml into ml  

 

Q 6 . Find the sum by arranging them in columns: 

      i)       69 L 985 ml   + 40 L 20 ml 

      ii)         89 L 7ml ,74L 98ml and 8 L 809 ml   

 

Q 7.  Find the difference by arranging them in columns: 

      i)   72L 044 ml from 98 L 677 ml  

      ii)   56 L9 ml  from 80 L 
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 Q 8 .Find the missing digits 

  8 9 0 

 

  X 7  

 

 2 6 7 0 

 

6 2 3  0 

 

6 4  7 0 

 

 
 Q 9. After performing all the operations that are indicated, you end up with the  

       number   75. What number did you start with? 

 

 

 
 
 
 
 

 

 

 

 

Q10 .Use the appropriate unit (L or ml) to measure  the following: 

a. Water in a small cup__________  

b. Capacity of water in a water tank___________  

c. Cough syrup in a spoon_______  

d. Eye drop in an eyedropper_______  

e. shampoo in sachet_________ 

 
Q 11.  Rupal went to a stationary shop where she bought few things. Fill in the table to complete the bill . 

S.No Items Quantity Rate in Rs  Amount in 

Rs  

1.  

 

Pencil  box 2 42  

2.  Stapler 1 60  

 Total  

Q 12. Mohan has a party at home. He buys 15 l 500 ml orange juice and 26 l 250 ml mango juice. How 

much juice did he buy in all ? 

 

  

 75 

x 
10 

  -5    
40+ 

÷ 2 



Q 13. Madhur wants to put a lace around the table cloth which is 34 cm long and 13 cm wide. Find the 
length of the lace required by him. 

 


